
x

x

x

x
x

x x x

x
x

x

x
x

x

x
x

x x x x

xxxxxxxxxxx

xxxxxxxxx

xxxxxxxx

x
x

x
x

x

xxxxxxxx

xxxx
x xxxxxxxxxxxxxxx

xxxxxxxx

x x x x x x x x x x x x

x x x x

152 ACRES

x x x x

x x x x x x x x x x x x x

x x x x x x x

x x x x x

x

x

x
x

x

xx

x
x

x
x

x
x

x

x x x

x
x

x

x
x

x
x

x
x

x

x x x x

xxxxxxxxxxx

xxxxxxxxx

xxxxxxxxxxxx

x
x

xx
x
xx

xxxxxxxx

xxxx
x xxxxxxxxxxxxxxxx

xxxxxxxxx

x x x x x x x x x x x x

x x x x

152 ACRES

x x x x

x x x x x x x x x x x x x

x x x x x x x

x x x x x

D
R

A
G

O
O

N
 S

T

185.00m90.00m 185.00m90.00m

R
2
0
0
0
.0

0
m

72.00m 313.05m

457.00m90.00m 185.74m

R
5
5
0
.0

0
m

R
4
5
0
.0

0
m

R
227.5

3m

72.10m

185.77m 457.00m 90.00m

90.00m185.00m185.00m 90.00m

R
4
5
0
.0

0
m

JEFFERSON AVE

G
R

E
E

N
 S

T

W
A

T
E

R
M

A
N

 S
T

JU
N

C
T

IO
N

 S
T

S
P

R
IN

G
W

E
L

L
S

 S
T

RAILROAD

C
L

A
R

K
 S

T

FORT ST

L
IV

E
R

N
O

IS
  

A
V

E

Ramp B

70 Km/h

Super Elev+5%

Ramp C

70 Km/h

Super Elev=5%

Ramp A

70 km/h

Super Elev =5%

Ramp D

70 Km/h

Super elev=5%

R
2
3
3
.8

7
m

P
O

T
 =

 1
0
+

0
0
.0

0

 10

P
O

T
 =

 1
0
+

9
0
.0

7

 11  12  13  14

P
O

T
 =

 1
4

+
6

4
.2

2

 15

P
O

T
 =

 1
5

+
4

7
.0

7

 16
 17

P
C

 =
 1

7
+

3
3
.2

7

 18

 19

 20

 21

P
T

 =
 2

1
+

7
8
.6

6

 22

P
C

 =
 2

2
+

5
3
.1

3

 23

 2
4

 2
5

PT = 25+43.21

 2
6

PC = 26+01.92

 2
7

P
T
 =

 2
7
+
9
5
.1

9

P
O

T
 =

 1
0
+
0
0
.0

0

 1
0

 1
1P

O
T
 =

 1
1
+
2
4
.6

3

 1
2

P
C

 =
 1

2
+
4
9
.6

0

 1
3

 1
4

 1
5

PCC = 15+29.43

 1
6

 1
7

 1
8

 19

 20

P
T

 =
 2

0
+

3
8
.2

5

 21
 22

P
O

T
 =

 2
2
+

4
9
.7

1

 23  24

P
O

T
 =

 2
4

+
3

4
.5

8

 25

P
O

T
 =

 2
5
+

2
4
.6

5

 26  27

P
O

T
 =

 2
7
+

0
9
.6

5

P
O

T
 =

 2
7
+

7
3
.0

9

P
O

T
 =

 1
0
+
0
0
.0

0

 1
0

 1
1

P
C

 =
 1

1
+
1
2
.9

7

 1
2

PT = 12+50.97

 1
3PC = 13+17.89

 1
4

 1
5

 1
6

 1
7

 18

 19
 20

P
T

 =
 2

0
+

3
8
.5

6

 21

P
O

T
 =

 2
1
+

7
0
.3

5

 22
 23

P
C

 =
 2

3
+

5
1
.6

1

 24

P
T

 =
 2

4
+

6
5
.1

5

 25

P
O

T
 =

 2
5
+

3
7
.1

6

 26

P
O

T
 =

 2
6

+
2

2
.6

8

 27

P
O

T
 =

 2
7

+
2

2
.1

6

 28

P
O

T
 =

 2
8
+

1
2
.2

3

 29

P
O

T
 =

 2
9

+
9

7
.2

3

 30

P
O

T
 =

 3
0
+

8
7
.3

0

P
O

T
 =

 1
0
+

0
0
.0

0

 10

P
O

T
 =

 1
0
+

9
0
.0

7

 11

P
O

T
 =

 1
1
+

4
7
.2

1

 12 13 14 15

P
O

T
 =

 1
5

+
4

7
.0

7

 16
 17

P
C

 =
 1

7
+

3
3
.2

9

 18

 19

 20

 2
1

 2
2

 2
3

 2
4

PT = 24+38.62

 2
5

POT = 25+06.60

PC = 25+64.50

 2
6

 2
7

P
T
 =

 2
7
+
5
4
.9

7

R
2
0
2
8
.4

1
m

SCALE : 1"=100m

PLAZA BOUNDARY

EXISTING IMPACTED RAMPS

ROW

x xx x

X X

x

PLAZA OPPORTUNITY BOUNDARY

RAIL ROAD

DRIC - POSSIBLE PLAZA/RAMP CONFIGURATION

PLAZA RAMPS FOR LOCAL OPTION 2

F:\646294_DRIC_Study\01.0000  Alternative Development\01.0200  Practical Alternatives\01.0210  Alternative Development\01.0213  Road\073106 Submittal\local_opt2\opt2_plaza_ramps.dgn

Ramp H

G-201, CASE 1

Ramp E

G-205

Ramp G

G-205

LAFAYETTE BLVD

Ramp F

G-201, CASE 1

x

x

x

x

x

x

NOTE: ONLY 1 OF 4 POSSIBLE PLAZA OPTIONS SHOWN

 10

 11

 12

 13

 14

 15

 16
 17  18  19

 10

 11

 12

 13

 14

 15
 16 17

 18


